ALGEBRA 11 Activity 1012
DR. PAUL L. BAILEY Tuesday, October 12, 2021

Problem 1. Let z; =6 + 3¢ and 25 = 2 — 5, and 23 = 21 + z2. Plot all of the following complex numbers:

21, 22, 23, —Z1, —Zz2, —Zz3, 27 57 %

Problem 2. Compute the following.
(a) (2+8i)+(3—50) (d) |5+ 124

(b) (3+7i)- (3 — 5i) (e) 811

(c) (1+4)? (£) i



Problem 3. Let z =3+ 4¢ and w = 7 — 2¢. Compute the following.

(a) z+w (f) z+Zand w+ @
(b) z—w (g) 2z and ww

(c) 2w (h) 1/w

(d) 7 and @ G) z/w

() |z] and |w] () w/z



